LOSUNG zu bsp-7136-2/VFZF

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7136

Aufgabe 1

Berechne.

a) 47 - 400 = 18800
d) 19 - 50 = 950

g) 58 - 400 = 23200
j) 96 - 800 = 76800

Aufgabe 2

Berechne.

28.07.2013

b) 67 - 800 = 53600 ¢) 31 - 600 = 18600

e) 13- 700 = 9100
h) 44 - 80 = 3520

£) 45 - 400 = 18000
) 61 - 40 = 2440

a) 16 - 6600 = 105600 b) 96 - 1700 = 163200
d) 57 - 5200 = 296400 e) 41 - 640 = 26240

¢) 74 - 8100 = 599400

f) 73 - 3000 = 219000
i) 56 - 9100 = 509600

Aufgabe 3
Berechne.

a) 84 - 900 = 75600

d) 87 - 4000 = 348000

g) 96 - 40 = 3840
j) 94 - 900 = 84600

Aufgabe 4

Berechne.
a) 10 - 1000 = 10000
d) 7100 = 700

¢) 655900 = 383500  h) 39 - 970 = 37830
i) 48 - 4600 = 220800

b) 78 - 7000 = 546000 ¢) 42 - 600 = 25200

h) 32 - 500 = 16000

b) 60 - 10 = 600
¢) 14 - 10 = 140

g) 28 - 10 = 280 h) 54 - 100 = 5400

i) 42 - 10 = 420
Viel Erfolg!
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e) 49 - 7000 = 343000 f) 70 - 800 = 56000

i) 31700 = 21700

¢) 67 -100 = 6700
f) 62 - 100 = 6200
i) 50 - 1000 = 50000
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